FOUR-DIGIT SUBTRACTION: REGROUPING (1)

Subtract.

3,201 -2,123 = 4,524 - 1,206 = 5,182 -3,074 =
5,070 -2,382 = 8,045 - 2,580 = 3,600 - 1,306 =
8,234 — 2,452 = 5,401-1,708 = 5,034 -2515=
7,500 - 2,768 = 6,072 -1,035 = 5,621 -1,343 =
5,257 -3,409 = 6,750 — 2,568 = 4,820 — 3,845 =
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FOUR-DIGIT SUBTRACTION: REGROUPING (2)

Subtract.

2,560 - 1,253 = 5,804 - 1,406 = 7,002 — 3,065 =
8,207 —3,092 = 5,141 -2,791 = 7,482 — 3,963 =
6,045 2,502 = 8,731 -2,938 = 7,240 - 2,381 =
6,002 — 3,405 = 6,103 — 4,551 = 6,408 — 2,869 =
5,260 — 3,189 = 7,243 - 3,435 = 8,181 — 3,028 =
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FOUR-DIGIT SUBTRACTION: REGROUPING (3)

Subtract.

3,547 —-1,648 = 3,978 - 3,379 = 5,001 - 3,865 =
6,506 — 2,755 = 6,835—-2,967 = 6,053 - 4,378 =
8,034 — 2,402 = 4,527 -1,029 = 8,052 — 4,687 =
9,220-4,576 = 6,704 - 2,479 = 5,463 -2,167=
2,397 -1,898 = 7,480 -1,767 = 6,970 — 2,596 =
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FOUR-DIGIT SUBTRACTION: REGROUPING (4)

Subtract.

4,135-1,798 = 7,520 - 4,225 = 6,702 — 4,556 =
5,600 - 3,402 = 7,041 -1,238 = 2,104 — 3,652 =
7,074 -5,962 = 6,134 — 3,067= 5,002 — 2,865=
6,140 - 4,576 = 8,270 - 3,471 = 9,561 - 2,691 =
5,721 -4,092 = 3,380 -2,193 = 6,516 — 3,788 =
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FOUR-DIGIT SUBTRACTION: REGROUPING (5)

Subtract.

8,005- 5,068 = 7,840 — 5,945 = 8,136 - 6,077 =
8,641 -2,078 = 6,804 — 2,098 = 5,642 -1,879 =
8,413 -4,079 = 6,854 — 6,792 = 6,403 - 2,079 =
4,251-1,792 = 6,435 - 2,089 = 9,401 -7,093 =
8,275 — 3,456 = 7,020 — 3,849 = 6,806 — 2,738 =
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